e % Vg 2 Sok b AL 4

lo
B
i
4
_?l‘,
ra

av)

2x3% .53, 25x5,32x7

@ 22 @ 23 3 45 @ 107 ® 143






3. ©e 4% e At e S

D 22x3x7 @ 3x5x7x9 @ 5x7x11
@ 132 (B) 9210



4. 23 x3x52x7? 9 59 4B Folofet

YER gl



5. T &9 12, 21 9 FEila F 200 Hok 23 300 Ho}t 2 5
Totoiat,

s
=¥



6. Al AAS15, 20, 24 9] o] A0 R Yol o] Hojx|= Aps
oM 7P A2 5 ot

@D 15 @ 80 3 120 @ 164 3 210






ofzt.

s
=¥






10. theol[ <te] BolZ oY L5 E AR 242,

atb<0°lTaxb>02d, al Jo,b[ ootk




11. o= & Alttol &2 A7

@ (+1.7) - (+%) =-6.2

o (2)-() -+

® (=5.6) = (=4.7) = -1.1



orubF] o] ¥tz 20] 40cm , FHutF 2] #Hx] 2 0] 50cem Q1 AHAA Q]
7 x ¥ 31 o, SubYt 3]sk 3148 x & AHEoHY
Lrefffoizt,

Ok
-

rE



13.

FET % A A

4o enjofat

s
=¥

= 300¢g &ofl E01

A

rr



t9tY ax+ b 7} =Tk ol a+ b <



£

15. o=

o

Hog g thehd 217

o

4711000 LolA a% EQ1H 7H4

@ (1000 -a) ¥ @ (1000 - 5a) &
® (1000 - 10a) ¥ @ (1000 - 100a) ¥

B —a 9



16. ofWl 4 x Hr}3uhE 2 4k y o] 2vf T2 7} Arh B Ao R
uh2 A Gebd 2.0

D x+3=2x-2 @ x+3=2x+2
® x+2=2x-3 @ 2x-3=x+1

B 2x+1=x-3



17, 2o 229 =27 79 F A9 27 )l o] AAdo] 4]
242 o] sezpel Ao Ape] o] AHE HHE A s A 420 28] ot
189HF At AF Adao] Aol Ao 2AE vt the 5
L0 709
26 1 AT .

@ 2(7T+x)=x+7-18 @ 14x-18 =10x+7
® ldx=x+7-18 @ 70+ x-18=2(10x+7)

® 2(70+x) =10x+7-18



18.

Ed o] dol7t 62cm o], 7t2 2] Aol7t Al=e] Zo]HT} 3em T
we ALY o] 712 2] ZolE Aotofgt,

s cm



19. @& y=ax+ 3l distd (1) =12 o, £(3) & g2

-2 -3 B4 @-6 0B -3



Tou

JolE yatal

17} 10 cm, W

o
ar

©|7}F xcm,

® y=15x

@ y=10x

® y=25x

@ y=20x



21. 2° =a, 3" =243 & WSt a, b O & 47 FSHH?

® a=16, b=4 ® a=16, b=5 ® a=32,b=4

@ a=32,b=5 ® a=32,b=6



ohg % 258 BE Eofe

1 13 15 24 29 32 33 52 71 98




23.

At 62 Mot 2 116 S
Uiro] F0, A 2 77}
sh4) 42 7o

@109 @ 129

A
n
al

-y

=]

=
1r

=

® 34



olJ
o8

ol

b

A
o

ld|

©N]

@ |d| < lel

@ lal > le|

® |c| < |d|

@ 1| < |c|



@ 50 - p(%)
@ 10-p(%)

@ 100 - 2p( %)
® 50 -2p(%)

® 100 - p(%)






27, 5-{3x+1-2(x-7)} +Tx E 7

@ 6x @ 6x+8

@ T7x+8 B 7x-10

3]



Ao 54 shed] Lok welis

4 = A& 2km 2, T2 A& AS
4km 2 WA F 1 A7t 30 Eo] ZHthH A&7t 22 £ A
=2

D 2km ® 3km 3 4km @® 5km 3B 6km



29. Oﬂi]—7]— 01;%]5]' _/J\_Eﬂg_ lﬂ'gf’ 200m E]'E]E = 3]_}:_1:1] 20 = 73—1%\:]'
Sh=d] 30 271 A}, o] ate] Zol=?

@D 120m @ 150m 3) 300m @ 400m 3 450m



2
n)
ret
i
o,
|o
i
8o
N
52
rlo
sl
rlo
o)

© 2 msl AEE A,

@ o) gl 20, 39 2 ), y 3k S oo e,
® 1.3AERE A Falold

@ x7} -3,0,3°]9H y= -1,0,1 o]t}



yl\
T+4alF-4A




il

7HE A (2,-1),(5.)

I

Ay = ax® 27

— N [N |
I |

|
[
< = 0
A Qe |
_ _ _
[

ST B
© © @



_4

2 U{O HHNI

33. o I T2 FAS ABCDOlA A P& HAH AlA
Sto] w2 4cm 4 A B WFo s ARz o] ®E wat
oli glrt. A P7hH CD 9ol 2L/ A ArhE]E ABCP 9] |
1920cm? 7} B A2 St A E = RI7F

=14
=
]
&
]_

A/,,80cm~\\D

40cm P
\

\




